H100mB+F

18] No. [-0.2m FiE IERE|  EC8% 2% No. |-0.5m i lBfz] A&
1 1973[1LiE B3 HEBEEXR 1 11.10 2 916[#F HEA ASTH¥Y = 1 11.09
2 1763[#dh ZEX 2[Ft A 2 11.26 3 [ 72174k B #ik 18X 2 11.15
3 71008 AR KR AZE |ILERZEX 3 11.32 4 18| K & AST9¥Y < 3 11.47
4 2065[1LIiE SEHE 2| iR E L 4 11.64 1 [ 7T1714]8BEER B |LERREXR 4 11.49

3#] No. [-1.2m FiE IERE|  ECE% 4%8] No. [-0.7m g JERE|  E08%
2 | 7i7i1]hE B8 3|ILEREEX 1 11.70 1 [ 7717 3k 3|LEREEXR 1 11.24
1 72320 E[E REg HIEBHIX 2 11.82 2 | 71175\ 68 BARER | 2 11.70
4 1065|tF K 5B 1AEA 3 11.87 3 [ 71180[FE A I 3 11.89
3 20s4| BAfH E 2| LS 4 12.02 4 | 71176|F/) i3 I 4 12.04

5#] No. [-0.5m FiE IEGL|  EC8% 6#] No. [-0.6m FiE BRI E08%
1 7117785 £ {E#t LEXEZEERX]| 1 11.46 3 886 |G 15 A=ER 1 11.71
3 T ESTIEZ 1FA 2 11.76 2 | M719|tH IHE | 2([LEERKEX 2 12.09
4 560(5 Xfn LEEERIST 3 11.79 1 863[1EA #EE [INEEE 3 12.12
2 568|248 Eth 3| L5 4 11.89 4 1669l E AN 4 12.14

7#8] No. [+0.5m FiiE Btz  EOEk 8#H| No. |-0.6m il lBfz] A&
2 | 71696[#HA EZE A LEREXR 1 11.49 4 1670| X & H—8A] 2|8t 1 12.03
4 1685|EH % 2| iEE 4t 2 11.73 1 1052(E% EF 1A GER 2 12.33
1 939[hJIl Ak 1A 3 11.75 3 45| EH F— 3| LBk 3 12.63
3 7005 fRE EF 2|Frmi R 4 12.63 2 4185| KRB | RE[FFF 4 12.72

ofi] No. [-0.8m FiE IEfE| — ERE% 108 No. [-1.3m FiE IEfE|  ER8%
1 1833[ 1L 216 2|fit A 1 12.32 1 1024|485 ¥ | 1|iREIL 1 12.05
2 862|FEA Z—EH 1[G kIt 2 12.57 4 861RA EX | 1|LEBHI 2 12.68
3 43040 EKX 3|AEEF AR 3 12.60 2 4302|[F MR 3|BEFFh 3 12.87
4 4305[[@ B XH 3|REEF AR 4 13.00 3 4306| £ 3@ —ER| 3|AEFrHh 4 12.97

11#  No. [-1.0m FiE IBGI|  EO8% 128  No. [-0.1m iiE IBfz]  EO8%
2 I71{EJIl _JEE JIBAC 1 12.24 2 859|H%E X 1 LEBHEI 1 12.44
3 ss7| A S 1[FEEIE 2 12.35 1 1350[LUA 38 IS 2 12.52
4 937|# F EiE 1|LERT 3 12.56 3 431858 Hk 3| LB 3 12.58
1 866|RIEX_BX 1 EBHE 4 12.62 4 1339|HE 0t 1| TREIL S 4 12.70

134 No. [+0.1m FiE IERL|  EO8% 144 No. [-0.3m iiE IBfz]  EO8%
2 968|Fatt Tl 1EEBHT 1 12.23 3 1764[ZEI6 fi 2[FEA 1 12.74
3 oo|fEE BE 1|EEMI 2 12.52 1 1022|3 F Eh HA=ER 2 12.84
1 1337| A1 X E3=ER 3 12.94 2 1310[FEH = ZE£IUAC 3 12.92
4 1128[AI K Bif 1R RR 4 13.01 4 7099|BRA &E 2|Frmi R 4 13.56

15488  No. [-0.5m FiE IBGI|  EO8% 168  No. [+0.1m il IBfz]  EO8%
1 969[/NE FOHE 1[EETT 1 12.77 2 439|128 K AN E A 1 12.97
2 1253[h#k —38 E3=ER 2 13.13 1 435(F8 2| Bk g 2 13.29
4 4203[ 1B 36E) BT, 3 13.44 3 451| =57 X 3| LBkt 3 13.32
3 1255 IBAR 1AZ 1 [FREE 4 13.48 4 444|E8 RN 3|EEH Lt 4 13.68

17488 No. [+0.9m Pt IEGz]  EE8% 188  No. [+0.4m iiE IBGz] i
4 1347|HEH A 1|LESEdes 1 13.19 3 AN77(HE = JI[IFAC 1 12.81
2 7096 |fRR RFE 2|Fhp g 2 13.49 2 1392])Il0 &% NG 2 13.30
3 438|TT T F1L 1[[EEHItF 3 13.49 4 1313[/V&E =R 1EEHT 3 14.06
1 440 FFH HE EEHE$ 4 13.58 1 7098 [FER IEEH 2|Frmidh ke 4 14.10

1980  No. [-0.5m FiE IERT]  EC8% 2048  No. [-0.3m iiE IBfz] A&
1 454 |[EFT —#E 2| Eyde 1 13.39 1 1153k &% B4 HWEESHT 1 13.28
2 4315|1818 % 1|REEFoh 2 13.77 4 | 10461 | KRR &8 2| Bk 2 13.90
3 1051 | FHF &3 1| EER 3 13.97 3 4312| E&X #hth 1|BEEpep 3 13.97
4 447[ILK /4 3| LBk 4 14.27 2 4314| k& BA 1|BEEFoh 4 14.29

21#0  No. [+0.2m FiE IERT|  EC8% 2280  No. [+0.3m FiE IBfz] A&
2 4253 [iEER MR 1:g@AF 1 13.78 1 1254(F F BESR A=ER 1 13.83
3 B BX 6| AT YISVE 2 13.78 3 7103[#f £ Kby 1 gL b 2 14.00
1 446| TR FE BB ADN=L B 3 14.61 4 938|f1H % = 3 14.16
4 457|FE Kith RPN=E R DNS 2 4310|EFH =R 2|REEFHh 4 14.51

23%0  No.  [-0.3m FiE IERT|  EC8% 24%  No.  [-0.1m FiiE IBfz] A&
1 450|/\R B2 1| L8 S 1 14.79 1 AH Bt 4{EAESKRC 1 16.02
2 4319|178 BEA 1|REEF b 2 15.39 2 EA BA NES SRR 2 16.45
4 437|578 HE 1| EEEIL S 3 15.49 3 TR 1N 3[BENRISKRC 3 17.78
3 436| TR EH RS $ 4 15.91

2580  No.  [+0.1m FiE IERT]  EC8%

3 71178| BBl FAAEA 1LEEXEZEX] 1 12.52
1 889| =% % 1| TREAE 2 13.82
2 1159 H BE#E 1|EEHI 3 14.69




H400mBF

148  No. i E £ FiE IERE|  EC8% 2%]  No. s | F FifE JERE|  E0E%
3 71606 HH EZF ALERFEXR 1 49.85 1 1763[#ch 22X | 2|fA 1 51.13
1 71713[#&) BEE2 At ILEEHEFK 2 51.96 2 939[h)Il ik 1A 2 51.69
2 | 71177|8E s LEXEZEX] 3 52.52 3 | 72320|FEE mEg HIRBHI K 3 53.77
4 | 71008[fE42K XZ [IEEX DNS 4 | 711719|EA BB 2|LEREXR 4 54.40

3fH] No. i E £ FiE IERE|  ECE% 4%]  No. mE | F FilE JERE|  E08%
2 1685\ AtE & 2| iR E L 1 51.94 2 885 15 A=ER 1 53.62
1 1063|AH Xk 1A 2 52.82 1 2064[5 FE#t 2| g4t 2 54.35
3 1s33| LI iR 2| fF A 3 53.95 3 2133[5H & 2| 1Li5 3 55.06
4 | 71690[480 EA HEB#EEX 4 1.00.49 4 1065\ A #EEEAl 1[fitA 4 57.21

5%  No. i E F g BRI  EC8% 6#H] No. mEE | F FilE BRI E08%
2 2185| R E =48 2| iRt 1 55.50 3 | 72322|FE EEK INEL PN 1 56.22
3 1670| KRR I+—BA ANNEEE 2 56.24 2 859|H%E X 1 EBHEI 2 57.21
4 969|/NE F05E 1|ILBHI 3 57.43 4 102418 RF 1|k b 3 57.73
1 1064 KRJI| =& 1A 4 58.95 1 887|#KH RS 1|k b 4 57.91

7#]  No. i E F g BRI  EC8% 8%A[ No. mEE | F FifE IERL|  E08%
1 2228|FHh % 2|k EIE 1 57.41 2 861[IRA EX 1| =&t 1 58.88
3 1253| pdR —3#8 1 [TEEdE 2 1.01.59 1 1255|BAR #BE 1 [TEEdL 2 1.00.49
2 1764|788 fin 2[FA 3 1.03.41 3 1022[# F =t 1|k dk 3 1.05.14
4 1337| A1 X E3=ER 4 1.05.88

off] No. i E F g IEGL|  EC8% 1048 No. ﬁ?}z%‘ F FilE BRI E08%
1 866|RIX _FBX 1 EBHEI 1 1.00.61 1 1254|3F F BEE 1 [TEEdE 1 1.04.40
3 Bie//hNE BX WEEHT 2 1.04.29 3 889| =% ffﬁéa’% A=ER 2 1.05.00
2 45| H5H E— 3|k DNS 2 1339|AE R A=ER 3 1.08.96
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148 No. A £ FilE IERT]  Eo8%

3 71690(880 E A 1EEREXR 1 4.07.62
4 | T17116|=& E& |ILEREEX 2 4.07.91
2 3878| B E B4 3[AUETFTSR] 3 4.10.87
1 71669 |8 A % 4|[LERFEXR 4 4.20.01
5 HEENESS 3[his 5 4.22.77
6 711173 BH A LEXEZEEX] 6 4.2511
8 1023[ K% B#H 1| TR 7 4.25.43

10 3864 [[MA EfE 21[OLIMPIA PLUS 8 4.26.74
7 2062|4558 BA 2|TREIE 9 4.29.98
9 85|IUA 1% EEELS 10 [ 4.37.69
11 B BfE IYFAC 11 5.19.62
13 1257( 518 #% 1| &=ES 12 [ 5.20.17
12 21348 55 AN 13 | 5.22.99
14 4205\ B XE =rEgg 14 [ 6.00.66

HE3000mB-F

148  No. iR E F FilE IERT|  EC8% 2%  No. BEE | & FifE IERL|  EC8%
6 454 |4 —#E 2| BEdb e 1 10.35.44 2 5 ,‘M: BiK 3[his 1 9.33.30
1 3834|EE FR 2[RBF0dt 2 [ 10.38.35 3 4181|558 Fi- 3| REfFhG 2 9.42.79
4 3824|HF T AMi ZENEAE 3 10.40.47 4 3917 |Fxike HiIg 3[OLIMPIA PLUS 3 9.47.20
2 4201 (&) H— EET L 4 10.46.24 11 1917 IIF ZEREA[ 2|fFA 4 9.47.70
12 436| =R EH 1ESHEI$ 5 11.05.19 12 1918;Z M E#E 2(fA 5 9.50.06
15 1668 M0k & 2|15 Skdt 6 | 11.07.84 9 4182|ch)I| =5 3| REfFHRG 6 | 10.01.15
7 4191{RE B2l 2| REfFhG 7 11.09.34 6 15|Rk EiE 2[EFRFH 7 10.02.52
13 3823|fRiE EA 1[F8F0de 8 [ 11.13.67 8 3821k A =#t 1[FEF0dt 8 | 10.06.17
9 442|100 K 3| LBk 9 11.14.06 7 888|{—H +#& EA=ER 9 10.10.93
14 3849| % A 1|AEFndk 11 | 11.29.40 5 771309 hE 2[EFRFH 10 | 10.32.77
8 1338|#t.E Kz 1| TREE 12 [ 11.31.38 10 3073|FraE IEH EE kR 11 ] 10.56.28
16 3822|EAAR HIE 1[{RRF0de e 13 | 11.32.05 1 2413|181l EA R 2= DNS
3 4183[kH fFE R 14 | 11.37.78
19 864|HIE Ef [IN=EE 15 | 11.54.00
18 865|BkR HiE [N=EE 16 | 12.05.59
5 433[1L11E s 3| Ix &b e DNS
10 860;BH Eak LB DNS
11 434[#% FE—BR 3| s &b o DNS
17 2116k B ANNEEE DNS
20 2011 {FAR BEX ANNCEE DNS
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1#8[  No. i E 3 FilE IEfz]  ERE%

1 71678| KB B |ILERZEXR 1 15.11.69
4 1021 K &=Z 1| TREE 2 | 16.42.20
5 1023[ A % 1| TREE 3 | 17.01.23
7 1021| 5 B ’737R2de‘I‘I 4 18.10.74
2 2413| B EA R BBk DNS
3 1109 % H— 2|;E AT ER DNS
6 2062|4558 BA 2| mREIE DNS




